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// 7 5 ZTenpo
public class Tenpo {
public String tenMei;
public String[] bunMei = { "", "7 L v ¥ A I B4V 2 A I b Al Y - ", " Zofth "}
public int[] kin = new int[6];
public intl[] su = new int[6];
public Tenpo(String tenMei) {
this. tenllei = tenllei;
1
public void keisan(int tyuCode, int suryo, int tanka) {
int bunCode = tyuCode / 1000;
int kingaku = suryo * tanka;
kin[bunCode] = kin[bunCode] + kingaku;
su[bunCode] = | (1) l;

}
public void hyoji(O {
System. out. println(tenlei) ;
for(int [ (2) |; i <= 5; i+t {
int heikin = kin[i] / sulil;
String hantei;

i ® DA
hantei = "O";
} else if(heikin >= 5000) {
hantei = "O";
} else {
hantei = "
}
System. out. printf("  %-6s %, 9d %3d %, bd %1s¥n", bunMeil[i], kin[i], sulil, heikin, [ (4) );

}

// 7 5 ZFlowerShop
import java. io. BufferedReader;

l

public class FlowerShop {
public static void main(String[] args) throws IOException {
Tenpo[] tp = new Tenpol4];
tp[1] = new Tenpo("A ¥ 54 v v a v 7");
tp[2] = new Tenpo("HHEE") ;
tp[3] = new Tenpo(" KBJE") ;
BufferedReader fileln = new BufferedReader(new FileReader("hanbai.csv"));
String line;
while((line = fileln.readLine()) != null) {
String[] str = line.split(",");
int hiduke = Integer. parselnt(str[0]);
int tenCode = Integer.parselnt(str[1]);
int tyuCode = Integer. parselnt(str[2]);
int suryo = Integer. parselnt(str[3]);
int tanka = Integer. parselnt(str[4]);
tp[tenCode]. keisan(tyuCode, suryo, tanka);
1
fileIn. close(Q);
Scanner sc = new Scanner (System. in) ;
System. out. print ("JE&fiz — FEZATLTL & W = );
int nyuCode = sc.nextIntQ;
while(nyuCode !'= 0) {
[ B lhyojiO;
System. out. print("[E&ia — FZ AN LTSV = ");
nyuCode = sc.nextInt();
}

sc. closeQ);
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<TYOEFEIOISL>

Option Explicit
Dim Tenki(3) As String, Cnt As Long, Tco(31) As Long, Hsyu(31) As Double, Tanka As Long, Heikin As Double

Private Sub UserForm Initialize()
Dim Hiduke As Long, Tcode As Long, Nitiji As Long, Hryo As Double, Hi As Long, Gokei As Long
Labell. Caption = "": TextBoxl.Text = ""
Call Syokika
Tenki(1l) = "HEN": Tenki(2) = "&b ": Tenki(3) = "W"
Open ThisWorkbook.Path & "¥tenki.csv" For Input As #1
Do While Not EOF(1)
Input #1, Hiduke, Tcode

Cnt = Cnt + 1
Tco(Cnt) = Tcode
Loop
Close #1

Open ThisWorkbook. Path & "¥hatuden. csv" For Input As #2
Do While Not EOQF(2)

Input #2, Nitiji, Hryo

Hi = Int(Nitiji / 100)

Hsyu(Hi) = | (1) \
Hsyu(0) = Hsyu(0) + Hryo
Loop
Close #2

Tanka = InputBox("7¢&Hifli (F, kWh) % A"
Heikin = Hsyu(0) / Cnt
Gokei = Hsyu(0) * Tanka
Labell. Caption = Format(Cnt, "#0") & Chr(13) & Chr(10) & _
Format (Heikin, "#0.00") & Chr(13) & Chr(10) & _
Format (Gokei, "##, ##0")
End Sub

Private Sub “3#r_ClickO
Dim BTcode As Long, Hkijun As Double, p As Long, Kingaku As Long, Hyoka As String
Dim BCnt As Long, Hryokei As Double, BHeikin As Double, BGokei As Long
Call Syokika
BTcode = Val(TextBoxl. Text)
Label2. Caption = Tenki(BTcode)
Hkijun = Heikin * 0.7
For To Cnt
If Tco(p) = BTcode Then
Labeld. Caption = Label4. Caption & Format(p, "#0") & Chr(13) & Chr(10)
Labelb. Caption = Labelb. Caption & Format(Hsyu(p), "#0.00") & Chr(13) & Chr(10)
Kingaku = Hsyu(p) * Tanka
Label6. Caption = Label6. Caption & Format(Kingaku, "#, ##0") & Chr(13) & Chr(10)

If | (3) | Then
Hyoka = "©"

Elself Hsyu(p) >= Hkijun Then
Hyoka = "O"

Else
Hyoka = "

End If

Label7. Caption = Label7. Caption & & Chr(13) & Chr(10)
BCnt = BCnt + 1
Hryokei = Hryokei + Hsyu(p)
End If
Next p
BHeikin = Hryokei / BCnt
BGokei = Hryokei * Tanka
Label3. Caption = Format([ (5) |, "#0") & Chr(13) & Chr(10) & _
Format(BHeikin, "#0.00") & Chr(13) & Chr(10) & _
Format (BGokei, "#i, ##0")
End Sub

Private Sub #£7 Click(O
End
End Sub

Private Sub Syokika()
Label2. Caption = "": Label3. Caption = "": ~ Label6.Caption = "": LabelT.Caption = ""
End Sub
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